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« Universal st

u={1|x’-ﬁ:*+1lf-ﬁﬂ=n}

A:{x|x’-5r+l5=ﬂ}

B={xfe* -+ 220}
What is (A~ BF equal v 7 :
(a) {1, 3} i) {1, 2.3}

(e {0 1. 3} () {0, 1,2,3)

« I the sum of firsr 10 cerms of an arithmeic progression
with first term pand common difference g, is 4 fimes the
sum of the firss 3 cerms, then what is the mtio p: g7

{a)1:2 (614
fc)2:1 (d14:1
. IF the roats of the equation 4% + A3 - 2=0 are of the

Eun:n--k—- arb:l-i-H—I.tI'bm what is the value of 3.7
kel el

(a) 2k w7

)2 Ll k+]

Suppose that A denoves the collection of all complex
numbars whise squaee i 8 negative real number, Which
one of the following statements % corres 7

Ay Ach ~

(k) AzR "

{c) .Ilh{:r H}f.'rz :Rlx._].' R

{d) A={iyly ¢ B}

& relacion K is defined cn the ser2 of integers & follows
-mifr e m+ nis add.

Which of the fodlowing sanements isfare wae for & 7

I Ris reflexive

2. K is symmetric

3 R ix transtive

Seloct the eorrect answer uding the code given below
{a) 2 emly th1 dand 3

{c) land 2 () land 3

One of the roots of & duadcatic equation with real

1 ;
i —
confflclonts |5 T Which of the lellewing

implications is/ape tripe ¥

1. Thie secend roat of the equstion will be ﬂ_l'ﬂ
=4l

2. The equation has no real roor.

3. The equation Is 13x% - 4x + 1 =01

Whicl af the abeve is'ané carrect #

{ay 1 and 2 only

(b 3 paly

(c) 2 and 3 anly

(3], 2amd 3

7.

|

-

9

s

1.

11.

12,

1a.

Given 4a-2b+c=0, where o, b ca &, which of the

fallowing statements is/abe fot tnae in general 7

Lfr e 3 will always be o facrer of the expression
ac +hx+c

Efr-0 will slways be a factor of the expression

Ly 4 xd

3. There will be a factor of the expression ax® + by +¢
different from (x + 2}

Sebeer the garrect answer wiag the code given below

(A} 1 and 2 cnly () L 2and 3

(e} 2 omly () 1 anly

I she sum of the squeres of the roons of

f—{p—ﬂ}x—[ﬁ”}:ﬂ[p!ﬂ]lﬂ 5, then whal is the

valesof pt
{a) & by -1
@1 @3

Ler A and & be two non-empry subsens of a ser X, 1f
[A=BLB=A)=AE, then which ome of the
following is cormecs ¥

@AcE - B Ac(¥ =B

(K1 A=E dIEcA

Lot A=q(n, 2n): ne N} and B = {{2s, nj-n c ¥},
What {2 A r B equal o}

i} (i, Ga)in &N}

(b} {{dn, B}z m & &}

() iln, 3)i v & N}

() "

Which one of the fallowing operations oo sets is not
comect whire B denotes the complement af B 7

(@) (F = A J (A =B )= (A B)- (AN E)

(B) (A=B)uE-A)= (A VF)-[ANF)

() (B =A (A =B )=(F-AnA-5)

(d) (& = A A =8 )= (B - A" Jua{A - B)

Which are of the following sefs has all elements &5 odd
podilive integers 7

(1) § = ek |¢* -8t 105 -1220}
{h}s-{urz| 3-9124.33;_15:@
(@ $=]xer|e’-7¢" + 14x-8=0}
{d) §= :cﬂ|x‘-1zrhm-4a.ﬂ}

W¥hich of the following statements 2 not cornect for the
relation R defined by aRbil and only if blives within ooe
kilometre from a? .

[a) | i rfloxive

(k) R is symametrie ’

(23 & {5 noq ancl-symmarie

[d) Mone of the abave
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14. Let X be any non-empty set containing n elements. Then
what i 1s the number of relations on X ?

(@ 2" b2
Oba (d)n
15. What is the sum of the first 50 terms of the series
Ax3N+@Bx5+(Ex7)+....?
(a) 1,71,650 (b) 26,600
(c) 26,650 (d) 26,900-
16. What is the number of real solunons of
[x?-x-6|=x+2? '
@4 (3 ©2 @1
17. What is the region that represents A N B if
A={(x, y)|x+y<4} and B={(x y)|x+ys<0}?

@{enk+y<d O {xy)|x+ys4

@{eyk+y<o}  @{eyx+y<a
18, How many 3-digit numbers, each less than 600, can be
formed from {1, 2, 3, 4, 7, 9} if repetition of digits is
allowed ? 27
(a) 216 (b) 180
() 144 (d) 120
19. If the roots of x% - 2mx + m? —1 = 0 lie between -2and
- 4, then which one of the following is correct ?

25.

26.

(a)-1sms<3 (b)-3sm<3 - 28.
() -3sm<5 (d)-1sm<5
20. If(log; x)? + logy x <2, then which one of the following
is correct ? ‘
(a)0<x<l (b)l<x<3 ) 29,
9 9 ‘
(€) 3<x <o (d)%SXSB

21. In a group of 500 students, there are 475 students who
can speak Hindi and 200 can speak Bengali. What is the
number of students who can speak Hindi only ?

-(a) 275 (b) 300
(c) 325 (d) 350
22, Let X and Y be two non-empty sets and let Ry and R be
two relations from X into Y. Then, which one of the 3L
following is correct ?
@ ® NRyY " cRINR?
) R, "Ry ORI AR,
© R, "R =R ARy
@) R, AR =R TUR,!
23. What is the value of
0013102 - 101,102

30.

() 24

3.xz>yzand£>l

z 2

4.x-z5yLzand X5l
z %

Which of the above is/are correct ?

(@) lonly ) (b) 2 only

(¢) I'and 2 only (d)1,2,3and 4

If 7, 2z, are any two complex numbers such that

|7 + 25 =|2 +|25], which one of the following is

correct?

(a) 2, =z, where 6, € R

(¢) 7 =azy where x>0

(b) % ZOOrZZ 20
@zl =z

Ifx=1 ¥ % %(%)2 + (%)3 +....where| y| <2, whatisy
equalto? ‘
OE=t O
x
© 2xx—2 @ 2x+l

There are four chairs with two chalrs in each row. In how
many ways can four persons be seated on the chairs, so
that no chair remains unoccupied ?

(a) 6 (b) 12

(d)48

In how many ways can the letters of the word
CORPORATION be arranged so that vowels always
occupy even places ?

(a) 120 (b) 2700
() 720 (d) 7200
If all permutations of the letters of the word LAGAN' are
arranged as in dictionary, then what is the rank of
‘NAAGL'?
(a) 48th word (b) 49th word
(c) 50th word - (d) 51st word
. . 3. (3-2x)

What is the coefficient of x” in ———?

) 1+ 3x)
(a) =272 (b) - 540
{c)-870 (d)-918

coso.  -sina
Aw _[sin o - cos a]

cosp  -sinf
Ap) _[sinﬂ cos B}

Which one of the following is correct ?
@ Aia) A-p) =Aaep)

®) Ay Ap)=Ap -

©) Aw) * Ap) =Ar-¢-an)

@) Ay + Agy = Aa'sp)

(1001192 + (10012 (1012 + (101 s ' 32, If
(a) (1001), (b) (101), 1+sin®x  cos?x 4sin 2x
(©) (110), (d) (100, = sin? 2 i
24, Let x>y be two real numbers and z € R, 2 # 0. Consider flx)=sin"x : L+cosix 4sin2x
sin? x cos? x 1+4sin2x

the following
l.x+z>y+zand xz>y2
2.x+z>y+zandx-2>y-2

What is the maximum value of f(x)?
(a) 2 ()4
©6 8
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cos. sin® 0 41
« If the matrix |sin® cos® 0|is singular, then what is
0 0 1
one of the values of 6 ?
OF

n
@3 2

©n @o

34, Forwhat values of k, does the system of linear equations
X+y+2=2,2Xx+y-2=33x+2y+ks=4
have a unique solution ?

3

w

42,

(@) k=0 by -1<k<1
(©) -2<k<2 @ k#0
1 0 1 x
. = B =
35. LetA {0 _ l] and [0 1]»
If AB = BA, then what is the value of x ? 43.
@-1 b0
©1 . " (d) Any real number

36. If a matrix B is obtained from a square matrix A by
interchanging any two of its rows, then what is| A + B|

equal to .
(a) 2/ A (b) 2|B|
©0 (@|Al-|8| 44
37. letA=(q;)ynandadjA=(oy) -
12 3
IfA={4 5 .4} Whatis the value of 013 ?
2 3 -1
(@1 (b) -1
©8 @-8 45.

38. Let A and B be two invertible square matrices each of
order n. What is adj (AB) equal to ?

(a) (adj A) (adj B) (b) (adj A) + (adjB)
(¢) (adj A)- (adj B) (d) (adj B) (adj A)
39. M is a matrix with real entries given by
4 k 0 o 46.
M=|6 3 0
2t k
Which of the following conditions guarantee the
invertibility of M ?
1.k#2 ' 47.
2.k#0
3.t#0
4.t#1
Select the correct answer using the code given below
(a)land 2 (b)2and 3
(c)land4 (d) 3 and 4
111 N
40. LetA=[{1 1 1 |bea squarematrixof order 3. Then,
111 ' 48.
for any positive integer n, what is A" equal to ?
@A () 3"A
©@HA (@34

Let A and B be two matrices such that AB is defined. If
AB =0, then which one of the following can be definitely
concluded ?

() A=0o0rB=0

(b) A=0and'B=0

(¢) Aand B are non-zero square matrices

(d) A and B cannot both be non-singular

The difference of two angles is 1°; the circular measure of
their sum is 1. What is the smaller angle in circular
measure ?.

180° n
@ [T'l} - ® [11_80']

1 n 11180°
(C)E[l“lsm] | (d)i[ - '1]

A vertical pole with height more than 100 m consists of
two parts, the lower being one-third of the whole. At a
point on a horizontal plane through the foot and 40 m
from it, the upper part subtends an angle whose tangent

is > What is the height of the pole ?

(2)110m
(©120m

(b) 200 m
(d) 150 m

. In a triangle ABC, a=2band £ A =3 £B. Which one of

the following is correct ?

(a) The triangle is isosceles

(b) The triangle is equilateral
(¢) The triangle is right-angled
(d) Such triangle does not exist

A positive acute an§le is divided into two parts whose
tangents are % and ry What is the value of this angle ?
n n
a) - b) —
(@ 3 (b 2
T T
€)= d) —
O] 6 @ o
If an angle B is complement of an angle A, what are the
greatest and least values of cos A cos B respectively ?
1 1
a) 0, -~ b).=, -1
(@) 3 (0 5
11
)10 d)=,-=
© (d) 273

Three expressions are given below
Qi =sin(A+B)+sin(B+C)+sin(C + A)
Qy=cos(A-B)+ cos(B-C)+ cos(C - A)
Q3 =sin A{cos B + cosC)
+ 8in B (cos C +'cos A)+ sin C (cos A + cos B)

Which one of the following is correct ?
@Q=Q
(®)Qy=Q; .
@QQ=Q;

(d) All the expressions are different

For what values of x is the equation 2sinf=x+ !
. x

valid ?

(@ x=t1 (b) All real values of x

©-1<x<l (d)x>landx<-1
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49.

50.

- 51.

52.

53.

54.

55.

56.

(a) B_é

If sin (m cos x)=cos (n sin x), then what is one of the
values of sin 2x ?-

1 1
_= b) —=
(@ 2 (b) 3
3
-= d) -1
(© 3 (d
What is the value of

tan (tan} x + tan"! y + tan™! 2) -

cot (cot " x+ cot™ y + cot™l z)?
®2(x+y+2)
(d) 37” +X+y+2z

(a) g
3n

© —2'

In a triangle ABC, if cos A = cos B cos C, what is the value

oftan A-tan B—tanC ?

@0

®-1

(c)1+tanAtanBtanC -

(d)tan AtanBtanC -1

What is the value of x that satisfies the equation

cos ! x=2sin"! x?
1

a) - b) -1

(@ 5 (b)

1
©1 @ -3

OAB s a given triangle such that OA =@, OB=b. Also C

is a point on AB such that AB =2B€. What is
—

AC equal to ?

@ %(B-z') ®) %(B’ )

©3@-B) @ 23-3)
2 , 2
Let a, B, The non-coplanar vectors and
L Bxe 5 exa o+ axb
p=——""4= N 1 F= >0
[abc] [abc] [abel
What is the value of
(@a-b-¢) p+(d-c-a)q+(€-a-b)r?
@0 (b) -3
©3 (d)-9

If ;, B ¢ are the positioh vectors of corners A, B,C of a
parallelogram ABCD, then what is the position vector of
the corner ) ?

(a)3+3+3 (b)2+i;—?
(©a-b+e @-a+b+e

In a AABC, angle B is obtuse and D, E, F are the middle

points of sides BC, CA, AB respectively. Which one of the
following vectors has the greatest magnitude ?

(b) CA

() AB (@ AD

57.

58.

59.

61

62.

63.

64.

1
. =—Zandx=1
(c) x 2an X

[f B¢3 ~and the conditions p-:i:;‘
=2 o5 5 - .

PX q=px r hold simultaneously, then which one of
the following is correct ?
@q#¥

©4q-7=0

® q=-*
@q=r
: 2 o n
If two unit vectors p and q make an angle 3 with each

other, what is the magnitude of 3 - % ;i ?

@0 OB
S 2

1

1 d) —
© @4

The median AD of a triangle ABC is bisected at F, and BF
is produced to meet the side AC in P. If AP =)\ AC, then
what is the value of A ?

1 1 2 1
a) - b) - )= d) =
(a) 2 (b) 3 © 3 ()] 3
What are the .values of x for which the two vectors
®-1)i+(x+2]j+x*kand 21 - xj + 3k are ortho-
gonal ?

(a) No real value of x b) x =% and x=-1

(d)x=-land x=2

What is the moment about the point i+ 2} + 3k, of a
force represented by i+ }+ k, acting through the point
2i+3j+k?

@2i+j+2k M i-j+3k
©3i+2j-k @3i+j-4k

A particle is acted upon by following forces

23 +3j+5k

(i) -51 + 4] - 3k and

(i) 31 -7k

In which plane does it move ?

(a) x-y plane

(b) y-z plane

(c) z-x plane

(d) Any arbitrary plane
What is the vector whose magnitude is 3, and is

perpendicular to i+ 3 and 3 +k?

@3d+j-k ®V3E-j+k
©B3G+j+k) @3d-j+i

An equilateral triangle is inscribed in the circle
x%+ _y2 =a® with.one of the vertices at (a, 0). What is
the equation of the side opposite to this vertex ?

(@) 2x-a=0 ) x+a=0
(¢)2x+a=0" (d) 3x-2a=0
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65. Consider the points (a-1,a,a+1),(a,a+1,a-1)and

66.

67.

68.

69

70.

71.

72.

(@+l,a-1a)

1. These points always form the vertices of an equilateral
triangle for any real value of a.

2. The area of the triangle formed by these pomts is
independent of a.

Which of the statement(s) given above is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

What are coordinates of the point equldlstant from the

points (a, 0, 0), (0, a, 0), (G, 0, @)and (0, 0, 0) ?

aaa aaa
(a)[a 3 3) ® (z 2 z)

(©)(@a,0 (d) (24, 24, 20)
If the latusrectum of an ellipse is equal to one half its
minor axis, what is the eccentricity of the ellipse ?
1 V3
Z b) X2
(a) 5 | (b) 2
3 J15
0= d) —
(@ y (d) 4
A line makes 45° with positive x-axis and makes equal

angles with positive y, 2 axes, respectively. What is the
sum of the three angles which the line makes with
positive x, y and z axes ?

(a) 180° (b) 165°

(c) 150° (d) 135°

P(2,2)is a point on the parabola y = 2x and A is its
vertex. Q is another point on the parabola such that PQ is
perpendicular to AP. What is the length of PQ ?

@42 (b 2.

(©) 42 (d) 642

What is the radius of the circle passing through the
points (0, 0), (a, 0)and (0, b)?

(@) ya* - b* () {2 + B

© % a® + b ) 24+ B>

The focal distance of a point on the parabola yz =12xis
4. What is the abscissa of the point ?

@1 -1

© 3 -2

What is the angle between the two lines whose direction
numbers are

(J'1 -3~ 14)and(—J' 1L,v3-1,4?

, (a) (b)

73.

(C) 3 (d) 2

If (2, 0) is the vertex and the y-axis is the directrix of a
parabola, then where is its focus ?

(a) (0,0 ® 2,0

() (4,0 (d) (-4,0)

74.

75.

76.

77.

78

79.

80

81

82.

The lines (p+2q)x+(p-3q)y=p~-q for different
values of p and g pass through the fixed point given by
which one of the following ?

35
(@ (—2', E)
© (3 , 9)

What is the angle between the two straight lines
y=(2-v3)x+5andy=(2+3)x-7?

(a) 60° (b) 45°

(¢) 30° (d)15°

If o, B, ¥ be angles which the vector T=Al+ 2] k
makes with the coordmate axes, then what is the value of
sin® & + sin? B + sin?y?

(a)2 (b)1

©A+1 @1-2

Let R be the set of real num;)ers andlet f:R—>Rbea

function such that f(x)= ] X 5 Whatis the range of f?
+x

(@R (b)R-{1}

(@1[0,1] @ [0 1)

If u=sin! (x-y), x= 3t y= =4t3, then what is the

derivative of u with respect tot ?
. . 1

)30 -t2 2

@30-t9)

1
© 5@ -2 )50 -t%
Let f(x)= '

18 - x* ‘
What is the value of lim f®-f3,

x93 X- 3

@0~ (b _l
(c:) - (d) =
Let f(x +y)=f(x)- f(y) and f(l) 2 for all X,y eR

where f(x) is continuous function. What is f" (1) equal
to?

(a)2ln2 (b)In 2
@1 ()] 0
x) (3x+x 3
Given f(x)=log [ - ] and g(x)= Tl
~ then what is f[g(x)] equal to ?
@ -f(x) () 3[f(x)]
© P (d) -3(f(x))
Under what condition is the tangent to a given curve ata
point perpendicular to x-axis ?
L ‘.L
(a) o 0 ®) 1
. 2
© & 0 (d) d— =1
dy
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84,

85.

86.

87.

88.

89.

90.

91.

2

If x = cost, y =sint, then what is % equalto?

@y ®y

©-r° @ -y’

If f(x)=(x - xg) ¢ (x)and ¢ (x)is continuous at x = X,

then what is f’ (xp) equal to ?
(@ ¢ (xo) (b) ¢(xo)
(€) X¢ ¢ (xo) (d) 2 (xo)

2
If y=x +e”, then what is-‘;—iequal to?
Ly

X

e
¢ b) ~———
(a) (b) T o7
X eX
_ d) = —e
© (1+e*) @ (+e*)?
What is the derivative of f(x)=x|x| ?
()] x|+ x (b) 2x
(c) 2 x| (d) -2 x|
Hx+y= t—— x? +y =t +l whans—equalto"
¢? dx
1 1
(a) - ) -=
x x
1 1
¢) = d) -—
( x* ( x?

What does the solution of the differential equation
xdy - ydx = 0 represent ?

(a) Rectangular hyperbola

(b) Straight line passing through (0, 0)

(c) Parabola with vertex at 0,0)

(d) Circle with centre at (0, 0)

If f(x)=1In(x - ,}1 + x?), then what isj £’ (x) dx equal

.to?

1

-(a) +c ) - 1 +c

2

(x-41+x%) yl+x

(©-y1+x°+¢ @hnx-yl+x¥)+c

IF{{;) Asm( ]+Band

0

f’ElJ =J§andJ f(x)dx=%, then
2 T

What is the value of B?
2
(a) 2 2
T ‘ T
©0 d1

If m and n are integers, then what is the value of
n

jsinmxsinnxdx, ifmzn?
! \

@0 ) ——

m+n

(d) mn

m-n

92.

93.

94

95.

96.

97.

Which one of the following differential equations
represents the system of circles touching y-axis at the
ongm ?

(a)——x 2_y?

b 20y L= y? - 2
() 2xy & y-x
dy 2 .2 dy 2 .2
2y P =x?o HL=y?-
(©) 2%y & x“-y (] e yo-x
What is the solution of the differentidl equation
Y.y o ‘
d (x+2°)
@yQ-m)=c ®y -x=¢y
©xA-x)=0y () x(1+xy)=cy
If y2 =p(x) is a polynomial of degree 3, then what is

2
Z-d—[ 3 £;—xj-lz-]e:qual to?

dx
@pMp” X ®pEp’x
() pYP"' (x) (d) A constant

What is the degree of the equation
1

ST

@1 )2

(©3 (d)4

The sum of twq numbers is 20, What are the numbers if
the product of the square of one and the cube of the other
is maximum ?

(a)6,14 ) 15,5

(©)12,8 , (d) 10,10

What is the slope of the normal at the point (at 2 2at)of
the parabola y2 = 4ax ?

,@% oL

98.

99.

100.

©-t @-1
t

What is the area under the curve y=|x|+|x-1|
between x=0and x=1?

1
(a) 3 1
©3 @z2
What is the value of lim —— sin| xI

x50 X

(a1
(b)-1
(0=

(d) Limit does not exist

The production of food grains in Maharashtra is given for

the 12 yr from 1992 to 2003. Which one of the following

representations is most suitable to depict the data ?

(a) A simple bar diagram

(b) A pie diagram

(¢c)A component bar diagram with the components
arranged in chronological order

(d) A broken line graph

£ Josh
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101.

102.

103.

104.

105.

106.

107.

108.

In a manufacture of ready-made garments, which
average is used to find the most frequent size ?

(a) Arithmetic mean (b) Geometric mean

(c) Mode (d) Harmonic mean

If A, B and C are any three arbitrary events, then which
one of the following expresswns shows that both Aand B
occur but notC ?

(Q)AnBNC (byAnBANCT
(©)ANnBNC (d)(AuB)NC

From past experience it is known that an investor will
invest in security Awith a probability of 0.6, will invest in
security B with a probability 0.3 and will invest in both A
and B with a probability of 0.2. What is the probability
that an investor will invest neither in Anorin B ?

(@) 0.7 (b) 0.28

(©) 0.3 (d) 0.4

Five coins whose faces are marked 2, 3 are thrown, What
is the probability of obtaining a total of 127

(a) — (b) =

(C) = (d) -

Under what condition will the angle between two
regression lines become zero ?

(@r=0 (b) Only whenr=+1
(c) Only whenr=-1 (dr=¢t1
What is the arithmetic mean of the series

2" 2"

b

®) n+1)
2+ 1)

(n+1) ]
The standard deviation of nobservations x;, xy, ..... ) Xn
is 6. The standard deviation of another set of n
observations yy, ¥y, ....., ¥y is 8. What is the standard
dev1at10n of n observations x; -y, Xy~ RETRE ,
Xn —_)’ n*t
(a) 10 by 7
(c) 14 (d)2
Following is the frequency distribution of life length in
hours of 100 electric bulbs '

2(n+1)

© (d

Life

hrs)

length of
bulbs (in

8.5-13.5/13.5-18.5] 18.5-23.5] 23.5-28.5 | 28.5-33.5 | 33.5-38.5

No.
bulbs

of
7 x 40 y 10 2

109.

o
Ifo, B are real, what is
B +ia

If the median of life length is 20 h, then what are the
missing frequencies (x, y)?
(a) (28, 13)
(¢) (31,10)

(b) (23,18)
(d) (25, 16)
+ip

equal to ?

1
) 3

@2

(@0
(1

110. What is the value of sin”! [sin %) ?

T

2n
() _E ®) —3—

2n n
© -3 (d 3

Ifz=1+i, then what is the inverse of z° ?
(a) 2i (byi

i i

- d) -~
© 3 (d) 5

Let P ={py, 2, Ps, P4}
Q=1{q;, ¢ 3 g4} and
R={R,n, 1,10}
If S10=A(p; g n):i + j+ k=10}
how many elements does $;, have ?
(@2 (b4
©6 d)8
Which one of the following is correct ?
(a) AUB-C)=An(BNC)
) A-BuC)=(AnB)NC
() A-BNnC)=(AnB)NC
d) AnB-C)=(AnB)NC
Ifa secretary and a joint secretary are to be selected from
a committee of 11 members, then in how many ways can
they be selected ?
(a)110 (b) 55
(©) 22 (@11
What is the value of ¥3 cosec 20° - sec 20°?
(@4 ()2
1 (o
What is the product of first 21+ 1 terms of a geometric
progression ?
(a) The (n + 1) th power of the nth term of the GP
(b) The (2n + 1) th power of the nth term of the GP
(c) The (2n + 1) th power of the (n + 1) th term of the GP
(d) The nth power of the (n + 1) th term of the GP
Directions : The next 4 (four) items consist of two statements,
one labelled as the ‘Assertion (A)’ and the other as
‘Reason (R)’. You are to examine these two
statements carefully and select the answers to
these items using the codes given below
Code :
(A) Both A and R are individually true and R is the
correct explanation of A
(B) Both A and R are individually true but R is not the
correct explanation of A
(C) Ais true but R is false
(D) A s false but R is true
117. Assertion (A) : We cannot find out the regression
equation of x on y from that of y on x .
Reason (R) : In one equation x is dependent variable
“and y is independent whereas in other
equation y is dependent variable and x is
independent.
b)B
(@D

111.

112,

113.

114.

115.

116.

(a) A
©cC
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Your guide to success

3 3
) i : =3and P@)=3, th @A (b) B
118. Assertion (A) : If P(A) 2 an: P(B) 5 then ©C - D
PAUB)2Z. 120 assertion (A) : [In? x dx =e -2
Reason (R) : P(A)< P(A U-B)and r,
P(B)<P(A L B); hence Reason (R) : I, =I In"xdx=e-2I,_,
) P(A v B) 2 max {P(A), P(B)} 1
(@A ®)B @c @D ) (@A (b)B
119. Assertion (A) :Ifa=2i+]-2k B=1+j-k @c (@D
then|a|#|B| )

Reason (R) : Two inequal vectors can never have same
magnitude. ) ! . .
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Answer: Mathematics

1 (c) 51 (a) 101 | (c)
2 (a) 52 (a) 102 | (d)
3 (b) 53 (a) 103 | (c)
4 (d) 54 (c) 104 | (c)
5 (a) 55 (c) 105 | (d)
6 (c) 56 (b) 106 | (b)
7 (c) 57 (d) 107 | (d)
8 (c) 58 (b) 108 | (c)
9 (b) 59 (d) 109 | (c)
10 (d) 60 (c) 110 | (d)
11 (a) 61 (d) 111 (d)
12 (b) 62 (b) 112 | (c)
13 (c) 63 (b) 113 | (b)
14 (a) 64 (c) 114 | (b)
15 (a) 65 (c) 115 | (a)
16 (b) 66 (b) 116 | (c)
17 (c) 67 (b) 117 | (a)
18 (c) 68 (b) 118 | (b)
19 (d) 69 (d) 119 | (d)
20 (b) 70 (c) 120 | (a)
21 (b) 71 (a)
22 (d) 72 (c)
23 (d) 73 (c)
24 (d) 74 (d)
25 (a) 75 (a)
26 (c) 76 (a)
27 (c) 77 (a)
28 (d) 78 (b)
29 (b) 79 (d)
30 | (d) 80 | (a)
31 (a) 81 (b)
32 (c) 82 (c)
33 (a) 83 (c)
34 (d) 84 (b)
35 | (b) 85 | (b)
36 (c) 86 (c)
37 (c) 87 (c)
38 (d) 88 (b)

10 |
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39 (a) 89 (b)
40 (c) 90 (c)
41 (c) 91 (a)
42 (c) 92 (b)
43 (c) 93 (b)
44 (c) 94 (c)
45 (b) 95 (d)
46 (d) 96 (c)
47 (c) 97 (c)
48 (a) 98 (b)
49 (c) 99 (d)
50 | (a) 100 | (b)

11 |



